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Raghu, a friendly and lovely boy,

plays. piano'very well. Identify the

adjectives in the above sentence.
(1) lovely, well

(2) friendly, lovely, well

(3) friendly, lovely

(4) friendly, very, well

Match the phrases given on the left
with the 'sea' words given on the |

right. Then choose the correct
answer. '

a) theland at the pi seaweed

bottom of the sea
b) land along the - q) seafood
- edge of the sea
¢) plants growing r) seabed

in the sea

d) fish and fish- like s) seashore
“animals from '

the sea N . ;
() a—s; b-p; c-r; d-q
@ a-r; b-p; ¢-q d-s
3)a-gq; b-r; c-p; .d-s
(4)371-; b-s; c¢—p; d-gq

Identify the word that occurs only

- in the plural.
_ (1) glasses

(2) clothes
(3) potatoes -
(4) tools

What would you sayina hotel when
you have to wake up early for an
important meeting?

(1) Could I have a call at 6 a. m.,

please?

(2) Can I ask you to call me at
6 a.m., please?

(3) May I have acall at 6 a.m.?

(4) Shall I have a callat 6 a.m.?

65.

66.

(14]

67.

68.

69.

70.

~(3) Ido too.

. Identify the part of the sentence that

has an error. The parts are labelled
asa,b,candd.
Would you / follow me / wherever /

(@ (b) - ©
I would go?
(d)
V) (@) @ ()
3 © 4 @
Identify the set of words contammg
only insects.

(1) bee, ant, hare, fly

(2) ant, bee, moped, butterfly
(3) ant, bee, ladybird, butterfly:
(4) bee, butterfly, owl, ant

There is a word in the sentence
whose letters, when rearranged, will
give you the name of a part of your
body. Identify that word.

'I think all this rough play on the

_hockey field will mar the 1mage of

the game!'
. (1) image (2) mar
(3) game (4) rough
I don't like those bangles; ......., they -

are too expensive.
Identify the correct option to fill in
the blank.

(1) besides - '(2) beside

(3). apart from  (4) in addition
Heis arriving ............ the 3.15 train.
Choose the correct preposmon to fill
“in the blank.

(1) in (2) on

(3) with 4) to

A : Idon't like cucumbers.

B 2 e

Identify the grammatically correct
response of 'B'.

(1) Neither Ido. (2) Idon'teither.
"+ (4) Inor do.



71.

72.

73.

'How do people learn langu'ages?‘_
. . The passive_ form of the above |

sentenceis..... B

(1) How are languages learnt by

people?

" (2) How were languages learnt‘7

(3) Languages are learnt by people
how? .
(4) How are languages leamt‘7

Tomorrow thereisa meetmg in our
'school Come early, .......7 :

Choose the question tag to complete
the sentence.
(1).do you

. | (2) don't you
@) willyou .

- (4) won'tyou

- Salim said, "Prem isill."
The reported form of the above

sentence1is.....
(1) Salim said that Prem wasill.

. (2) Salim told that Prem wasill.

74.

- (8) Salim said me that Prem wasill.-

(4) Salim said me Prem was ill.

Two people were injured in an |

accident and they were taken to.........

" Identify the correct option to

~ “(1) ahospital .

75,

.. The above sentence can also be.

~ (3)' I used to go out as much as I do

W-101/TET-111-EM/TM

complete the sentence.
(2) an hospital
(3) the hospital (4) hospital

I gd out less than I used to.

written without changmg the

meaning as ..........

(1) Igoout as many t1mes as I used
to.

(2) Idon't go out_l as much as [ used ‘

to.

‘now.

(4) I go out at least as much as I

used to.

76.
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-“d) research shows that

2)
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Tom arid Bill are friénds -

Choose the correct optlon to fill in
the blank.

(1) not longer

(2) no more

(3) no longer

(4) not any much

Identify the correct order of the parts
of the sentence (a, b, ¢, d and e) given

‘below.

2)

children living in villages
b) ininner city areas '
than do their counterparts

watch more television .

(1) a),e),b),d),c)

42 2),9,0,d),b)

(3) d),a),e),c),b)
(4) d),a),c),e),b)

The letter 'o' in comic is pronounced
asthe'o'in........

(1) college

(2) computer

(3) cork

4) cold

The horse is hmpmg It must have
hurtits ....... : -

Choose the correct option to
complete the sentexce. .

(1) mane (2) hoof
(3) paw. - (4) claws
him for his bravery and
honesty. : ,
- Identify the appropriate word to fill
in the blank. '
(1) condemn
(2) admire

(3) content

. (4) plead -

P.T.O.
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I81 to 84 : Read i;he following paasaée and answer the questions given below. -

The proverb, 'Cowards die nlany times Before' their death' is. extracted
from Shakespeare's 'Julius Caesar The complete form of this proverb is Cowards
die many times before thexr death the valiant never tas;:e of death but once.'

| Caesar utters this maxim when hlS wife Calpurma pleads with him not t-o )
go to the Senate on that day as she fears that he may die. Caesar declares that
only cowards give in to fear One should not lose heart when one encounters dlfflcult..
situations in life. In such situations, one should gather all the forces at one's
command and try to overcome them. If a person gives up in the face of adverse
~ conditions, he cannot progress in life, as life is not a bed of roses. He or she should
face the problems aquarely and find ways to ove'fcome.them,l'as that is the only way
to become successful in life. ‘ |
81.. The proverb, 'cowards die ‘many | 83, Caesar says, when one encounters

times before their death' is uttered difficult situations, ...... |

Identi_fjf the latter part of the above

(1) Shakespeare ' sentenbe.

(2) Julius Caesar _ (i) he should give ub hope

(3) Calpurnia _ ) 2 h_e should leave it.to God

(4) The valiant _P_ers‘?“ - (3) he -s_hould seek .someo_ne's help

82. - Caesar's wife requests him ........... " (4) he should not give up hope
. 41) not to go to the Senate . - 84. - One should face problems squarely.

- (2) gotothe Senate ‘Here 'squarely’ means............

(3) not to die - :.(1) su'rely

(4) not to lose hearf_ RN B (2) bravely

(3) cleverly

 (4) patiently
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A student passes your test on
spoken English but cannot speak

English outside the school. Then

your testisnot .......

(1) valid

(2) reliable
(3) practicable
(4) scorable

The discourse-oriented ﬁeda'gogy'

is rﬂOre effective than _the_bther'

methods becauée

(1)- it encourages a learner's
autonoiny

@) it aiscdurages a _1earﬁer's‘
inquiry |

(3) it follows tlhé behaviorist theory

of learning

(4) it emphasizes teaching rather |
-} 90.

than learning

The number of syllables in the

word, 'internationalization'is .........

(1) 'Six

‘(2) nine

(3) seven

_(4) eight

89.

o7

88.
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The function-based and ;ask-

centered approach is the ...... _

(1) structural apprdach

(2) S-0O-S approach

(3) communicative approach

(4) situational approach

The activity of 'learners gi%;i'n"g

directions to each other's home as

if they _:wére going to visit each
otﬂer' isan exarhpleof........... |
(i) dramatization

(2) role-play

(3) simulation

(4) situation drill

Identify the set of capital letters that
have similar stro'keslpatterxfls.
(1) IMH

(2) EFH

(3) AEM

@) THV

P.T.0,



